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BACHELOR OF SCIENCE. (B.Sc.)
Term-End Examination '

- June, 2018
LIFE SCIENCE.
LSE-12 : PLANT DIVERSITY-l
Time : 8 hours ' Maximum Marks : 75

Note : Answer the questions as directed in Sections A; B
and C. Praw neat and labelled diagrams wherever
necessary.

SECTION A
Note : All the questions in this section are compulsory. .
1. Fill in the blanks : : ' ‘ 5

(a) Circular DNA is a characteristic of
organisms.

(b) Akinetes can withstand  prolonged

(é) Clamp connections in hyphal segments are
unique to the members of division

@ Chlorophylls and carotencids within
chloroplasts of bryophytes closely resemble

those in _ algae.
- (e) A is the simplest of all the forms of
steles.
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2. Indicate whether the following statements are

True or False :

(a)

(b)

(c)

(d

(e)

The rhizome of Psilotum is associated with

mycorrhizal fungus.

Protonemal phase is a characteristic of |

mosses.

Late blight of potato is caused by Cercospora

sp.

Yellow-green algae are widely distributed in

freshwater habitats.

Most lichens have an ascomycetes as the

fungal component.

3. Match the items of Column A with those of

~ Column B :
Column A
I.  Rhizophore
II. Pseudbelators
ITI. Heterocyst
IV. Floridean starch

LSE-12

Plasmodial slime
mould

# O a w p»

Column B
Polysiphonia
Nostoc
Selaginella
Echinostelium

Anthoceros



Note: Answer any five ques‘tiohs. All questions carry

5.

>6.

7.

SECTION B

equal marks.
Write a note on prokaryotic algae.

Provide an illustrated account of the life-cycle of
Ulothrix.

;

(a) Draw labelled diagrams of sexual
reproduction in Rhizopus stolonifer (No
description is required).

(b) Mention the characteristic features of
Hepaticopsida. :

Discuss the uses of lichens under the following
headings (any two) :

(a) Indicators of pollution

() Dyes

(¢) Food

Briefly discuss the evolutionary steps involved in -
the development of seed habit.

Name any three common Indian pteridophytic
genera. Also mention the parts/regions of India
where they are found abundantly.

10. 'Discuss the role of fungi‘ as food spoilers.
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SECTION C

Note: Answer any two questions. All questions carry
equal marks.

11. (a) Name the causal organism of loose smut of
wheat. Give a detailed account of its
symptoms and control measures. 1+3+5

(b) Draw well-labelled diagrams of the above

disease cycle. 6
12. Discuss fossils under the following heads : 5+5+5
(a) Formation |
(b) Types

(¢) Nomenclature
13. Give a detailed account of the life-qycle of Pteris. 15

14. Differentiate between the following : 5+5+5
(a) Smooth and Tuberculate rhizoids

(b) Photosynthetic pigments of Brown algae and
Red algae

(¢) Foliose and Fruticose lichens
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5+5+5

15

5+5+5
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